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QUESTION 1

What happens when you use the Output option Filter out unselected cases in the Select Cases... dialog to create a filter
variable and retain all cases in the same data file? 

A. A new variable called filter? is created. Cases with a value of 1 for this variable have a slash through their row
number, indicating they are not selected. 

B. A new variable called filter I is created. Cases with a value of U for this variable have a slash through their row
number, indicating they are unselected and the message Filter On appears on the status bar of the Data Editor. 

C. A new variable called filter $ is created. Cases with a value of 0 for this variable have a slash through their row
number, indicating they are unselected and the message Filter On appears on the status bar of the Data Editor. 

D. A new variable called filter $ is created. Cases with a value of 1 for this variable have a slash through their row
number, indicating they are unselected and the message Filter On appears on the status bar of the Data Editor. 

Correct Answer: C 

 

QUESTION 2

In order to access the New Custom Attribute feature in the Data Editor, the Data Editor must be viewed from the: 

A. Value Labels button. 

B. Dialog Recall button. 

C. Variable View tab. 

D. Data View tab. 

Correct Answer: C 

 

 

QUESTION 3

The table below shows statistics for two variables. True or false: all people having a valid value for the variable AGE
WHEN FIRST MARRIED also have a valid value for the variable AGE OF RESPONDENT. 

A. True 
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B. False 

Correct Answer: B 

 

QUESTION 4

There are two major types of errors one can make when attempting to draw conclusions about the larger population
based on the information collected in the sample. For example, when performing an Independent Samples T-Test, one
type of error that can occur is when there are significant differences between the groups based on a scale level
dependent variable, but the test fails to detect them. Which of the following choices describe this sort of error? (Choose
two.) 

A. Type i error 

B. Type ii error 

C. False negative 

D. False positive 

Correct Answer: BC 

 

QUESTION 5

In the output of the CROSSTABS procedure, large residuals indicate agreement between the data and the null
hypothesis of independence. 

A. True 

B. False 

Correct Answer: B 
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